Political Science
Paper 1I

SIIMHA
g9uteRTt 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All of them.

AT : A1 GIAUBRhd TR T (50) Sg9ardl yed fooil R Y% YeAl @ (2)
0 . W Y gredl.

1. The Theory of Mandala is based | 1. WIciiciysh! HIVAT dAER Hees fAG

on : YA A8 ?
(A) Theory of power (A) g1 fagr
(B) Theory of balance of power (B) &1 gHder=n fagr

(C) Stable state system (C) e Ts9 Hawen

D) Morall i
(D) Morally determined state D) e feita TS

system

2. I WU s wea Sfr v fven

2. Who said that justice means helping
Y HUT WA AR ?

friends and harming enemies ?

(A) Socrates (A) Hifed
(B) Cephalas (B) HwleH
(C) Thrasimachus (C) gEiwy
(D) Polemarchus (D) Hferrha
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Who said that Plato was an enemy

of open society ?
(A) B. Joewett
(B) Aristotle

(C) Karl Popper
(D) R.S. Crossman

Who is the author of ‘Discourses on

First Ten Books of Titus Livius’ ?
(A) Saint Augustine

(B) Pope Galasius

(C) Machiavelli

(D) M. Padua

According to Hobbes, ‘continual
progress of desire from one object
to other, the attaining the former
being the way to the latter’

means :
(A) Liberty
(B) Felicity
(C) Equality

(D) Economic Competition

EeteAdeh] hIvedl fa=Ream

Godl AN U3 Wl AR ?

(A) Y. Sifae
(B) 3fR=iea
(C) Tl O

(D) 3R. TH. Higqd

‘TeushIdd & e 3 gy 3t ey

fafeea’ © g ol fafean ?
(A) e T

(B) W9 fafastd

(C) wieruseat

(D) TH. Tigst

gleg=al Hd Tkl IfEhgA g
Sfeerhe arga=t 9rae SO 9t
aTftr dfgel e e AR g
iR UM AFRAY WUN

(A) @A
(B) SAfaRel WM SAThIET
(C) gHa

(D) amféfer e
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Which one of the following

statements is not correct ?

(A) Locke’s theory of democracy is
based on limited government

and majority rule.

(B) Locke favours the state to
limit the natural rights of

individual.

(C) Locke is not a supporter of

religious tolerance.

(D) Man mixes his labour power
with natural resources to create

private property.
According to Rousseau, in ideal
polity, there should be no
contradiction between :
(A) King and Princes
(B) Freedom and Force

(C) Prince and Nobles

(D) Liberty and Tyranny

(A) Alw=l drhymet fagia waifed

A F IgHA TSI ITeR AT
3Te.

(B) T~IH =Iehie AfYehR Hifad v
Afem=n gifa TR,

(C) dfh &1 enfer AfeSU[a=n JEhHR
HUd A=

(D) ®WIU[H STl HHAYT®R] A9fi®

o (a)

IR [HHogA LSl HlcTHTI

TIR &l

BUI=T] 3ACY] UATHES  WTATAdh]

HIAT SE STAfay ATE ?

(A) TS 9 TSYA

(B) @Id=g 9 IhI

(C) TST 9 HSTHER

(D) @A 9 JAeE]
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Who said that ‘The state is the

realization of freedom’ ?

(A) Kant

(B) Hegel

(C) Marx

(D) Green

Which one of the following theories
of resistance provided basis to

Gandhi’s theory of Satyagraha ?

(A) Moderates’ theory of

constitutional agitation

(B) Tilak’s theory of responsive

co-operation

(C) Sri Aurobindo’s theory of
passive resistance and self-

development

(D) The Irish principles of

resistance

(B) ¥

(C) HmR

(D) WA

M= TanRrE fagad @iy

ShIvTe gfderr= fagTar sTerR qeferet
;e ?

(A) HITEET TSI Tosdaan agid

(B) feossmmn wfaarht weemifia=n fagma

(C) sfaeran 3Th{umcHs: Yfdewr =

T-fasrram=n fagia

(D) widshrr= ERe fagm
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10. Gramsci’s idea of Italian Prince is

related to :

(A) Party

(B) King

(C) Leader

(D) Intellectual

11. Which among the following books
explains the group approach to the
study of politics ?

(A) The Political System

(B) The Process of Government
(C) The Nerves of Government
(D) The Civic Culture

12. According to Almond interest

articulation is a :

(A) capability function of the

system

(B) function related to symbolic

capability of the system

(C) maintenance and adaptation

function of the system

(D) conversion function of the

system

10.

11.

12.

il ‘gerfaga fa=g=t’ ey

Tefaden! SRl gadd R ?
(A) 9&
(B) TST
(C)

(D) fommeEa

EeieTdeh] ShIvel J&ehld TaeMET=l
A=A e fagide faerur &
e ?

(A) T uifafesra fawn

(B) T U89 3ATH Teede

(C) T =Y A% TeEHe
(D) < fafwgs heR

se=al gfaueaer feaasuar=n
AfITHR T FTLT :

(A) &FaT HE TR

(B) o= YfdehlcHsh &THdfasEi=
EIR I

(C) Trafe & 3
(D) IR A AR
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13.

14.

15.

Who among the following is the

author of ‘Three Faces of Power’ ?
(A) C. Wright Mills

(B) K. Boulding

(C) T. Parsons

(D) R. Dahl

The doctrine of ‘Iron Law of

Oligarchy’ was propounded by :
(A) Vilfredo Pareto
(B) Gaenato Mosca
(C) Robert Michels
(D) C. Wright Mills

Who among the following criticised
Almond and Verba’s theory of Civic
Culture as ‘celebration of political

apathy’ :

(A) Tucker C.
(B) Pateman C.
(C) Thomas J.

(D) Coleman J.

13.

14.

15.

‘9 ®8" A iR’ A1 T e
HI AR ?

(A) HI. Tge fHe™
(B) . difeet
(C) 4. U=

(D) 3. e

‘TS WAl UIdAe! e dxd
T WTATATHRT FIOTIT FAITHRTA
g ?

(A) faawel w2
(B) THTl HIEhT
(C) U faew
(D) . T foew

EATTUeh! ST STYTHR 3THE STI0T

sgar= * fafegsh seer’ fagiaer ‘ TS
SRS 39 HreeR oy fagra’ oteh
fesmt St 3R 2

(A) ZTHT i
(B) UeHd Hi.
(C) 9™y .

(D) HeHd S
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16.

17.

The classification of assemblies as
‘active’, ‘reactive’, ‘marginal’ and

‘minimal’ is attributed to :

(A) Jean Blondel

(B) M. Mezey

(C) P. Norton

(D) Sartori G.

Which one of the following unitary
systems is having unicameral

legislature ?

(A) England

(B) Indonesia

(C) China

(D) France

16.

17.

TBITATATHRT  FIOET  AITHRTA

HTICHS M TR0  Thid hHEacHSS

b N

gfafsharcas ®EeHSes’, HHdISd
FERHE' M =AqH FERHS:' 31
%ol e ?

(A) SH =Ared

(B) wH. #Efl

(C) dt. Aréq

(D) 9@’ -

TTTATHRT HIOAT ThHTeH  STTTT

ATATAT QINMA THIMEN HTIRHSH
e ?

(A) TS

(B) SSHRTRN

(C) =M

(D) %A
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18.

19.

In federal democracies, constitutional
jurisdiction of the judiciary does not

stand for :

(A) Resolving conflict between the
state and citizens over basic

liberties

(B) Ruling on constitutionality of

laws

(C) Resolving conflicts between
different institutions or levels of

government
(D) Resolving intergroup conflicts

Which among the following has been
the most important indicators of
development in Huntington’s

Theory of Modernisation ?

(A) A society free from exploitation

(B) High level of institutionalisation

ensuring political stability

(C) Dominance of parochial
loyalties
(D) Existence of post-material

society

18.

19.

TERSATcHS ARSIy ~ITaEE=

AT TSR JeaTdehl HIM
FHER] TG A ?

(A) AR ST Tseeen A Ty

(B) fafstse s=m=an SeATcHshddTsd

[EERECU

(C) TITEATT AT TEAT 37eqe T
LA foare drgan

(D) TRrERMHE faar drean

BT TSTohid ST feh Ieh oA

IS aR USihia foehrar= Haifs

TEard G180 hivld 3T ?

(A) VUM FHS

(B) Ui ¥ faator seom sifieraw
Tt yE

o o .

(C) Hgpfoa fiss a9

(D) IWfaesr gaeE AfdE
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20.

21.

22.

The fourfold classification of
personal rule as ‘modern sultanism’,
‘oligarchic democracy’, ‘rule by
military chieftain’ and ‘rule by local

political bosses’ is attributed to :
(A) Juan Linz

(B) G. Roth

(C) Jackson and Roseberg

(D) Eisenstadt

‘Bombay Plan’ was concerned
with :

(A) State participation in economy

(B) Industrial development of the

country
(©)

Reducing communal tensions

(D) Resolving inter-state border

disputes

Who from among the following has
authored ‘Social Background of

Indian Nationalism’ ?
(A) David Hardiman
(B) A.R. Desai

(C) Bipin Chandra

(D) Rajni Kothari

20. AfTehst TSER ‘S AYfeh Fearemat

21.

22.

 SACASTTEIR AIhIME!, el Herar=it
erae’ St wenfen Ttk <= S’

3 Tgfdy arfientul TIeieTdeh! I

FAERH hel AR ?

(A) Jo feiz

(B) Sit. U™

(C) S amfor Wgrart

(D) I

‘S I Ty RN B 2

(A) ARG TIHEI= I

(B) <= SirEnfien ferehra

(C) i T wH HI0

(D) =esh TsAmHia HiHmere dreen

‘grere SRURE S sfead Herfersm’
T JX% Wrefads! won fafea 2

(A) efes =fea
(B) TIR. <HE
(C) faftm ==1
(D) T ket
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23. From among the following who | 23. ‘dfhT 31 SHIHIIH HFESTM : T Sfedr
is the author of ‘Working a TR’ q&e @eierdsh! o
Democratic Constitution : The fafect 2
Indian Experience’ ?

(A) UHfae i
(A) Granville Austin
(B) dia o
(B) Paul Brass
(C) .3 IS
(C) B.R. Ambedkar
(D) B. Shiva Rao (D) it ford T
24. In the impeachment of President of | 24, yRaren Tseud! favs=n wef9=T=N
2 NN
India, grd majority of : SUd Eefleiyehl <hIUTCAT HHT]RId 3
SEHAE A B0 TS S ?
(A) Lok Sabha and Rajya Sabha is
needed (A) e 991 9 TF |l
(B) Lok Sabha is needed
(B) <k 9l
(C) Lok Sabha, Rajya Sabha and
state assemblies is needed () < Well, T T o T fofer
HHT
(D) Lok Sabha, Rajya Sabha and
the investigating body is (D) Ik T, T 1 F AT FHI0MG
needed SIERl
10

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

25. Which Amendment to the | 25. UTHUATAAIAT SeATCHE Sl hIUTCAT
Constitution provides Constitutional HAGER Yoo THesrell ?
Status to village panchayats ?
(A) 73l weAgEE
(A) 73rd Amendment
(B) 744l HeAgeEil
(B) 74th Amendment
(C) 7591 HeAgeEil
(C) 75th Amendment
D) 766l EeAIGEEI
(D) 76th Amendment D) 76
26. Which one of the following Supreme 26. H’qlw rq}eillcf'q|Dql crlTeal Tenlet
Court judgements redefined Centre- FE-T FAU AT el e ?
i 2
State relations ? (A) T SR S
(A) S.R. Bommai Case .
(B) 1 WAl S
(B) Indra Sawhny Case
(C) 9™ Ud Tl
(C) Vaman Rao Case
(D) ™. M. Tl T
(D) L.R. Coehlo Case
27. AN GAfeihAr= Heheddl YR
27. The concept of judicial review in the N PN .
Avdecd dlddlcdYehl ohlU[cd] ?:"%TITI%EI
Indian Constitution has been Yoot e 2
borrowed from :
(A) UK (A) FAE ThiTSH
(B) USA (B) ST
(C) France (C) %™
(D) Ireland (D) RS
11 [P.T.O.
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28. In which one of the following states | 28. TIE@dH! HITAT TCH JATHE
the electoral alliance of KHAM was e UehIeRIdl ‘@M’ = HHIRT AR
formed ? A ?

(A) Rajasthan (A) TSI
(B) Maharashtra (B) HERSS
(C) Madhya Pradesh (C) 7= TR
(D) Gujarat

! (D) TSR

29. Election Commission is created b

" V| 20. frereum s FRE wt Seh 2
e:

(A) Union Executive (A) IS HEHRT HE2

(B) Parliament (B) &<

(C) Constitution (C) TFEHA

(D) Supreme Court (D) wal=d =&

30. Which one of the following | 30. Wreflaiisl HIVMT T HRAER]
movements is based on a separatist AOMeR 3MURAell 38 2
demand ?

(A) IO Feoacs
(A) Telangana Movement

(B) TREcISH F3dD
(B) Gorkhaland Movement

(C) AFT= Faes
(C) Naga Movement

(D) STSriSTl Tesds
(D) Bodoland Movement

12
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31.

32.

Who said : “Where policy ends,

administration begins ?”

(A) F.W. Taylor

(B) Woodrow Wilson

(C) Chester Bernard

(D) Herbert Simon

Development administration refers

to :

(A) Changes in administration of

developing countries

(B) Administration in developing

countries

(C) Administration oriented to

change

(D) Development in administration

(B) g0 foe@A

(C) ==X oA e

(D) &< ArEWA

32. fo@m wemEA qEictie! Hemel Hefyd
Mg ?

(A) Tamgasiiar I9mdIad gImEATd I

ofqel

(B) foergesiial <9mdial 99mae

(C) IREATE yemeA

(D) 9Tl forehTd

13
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33.

34.

35.

Classical theory of Organization :

(A)

is concerned with internal

organization structure.
(B) is ‘principles’ oriented.
(®)

believes in decentralization.

(D) does not believe in rationality

of human behaviour.

Which of the following Ministries in
India is organised on the principle

of ‘Function’ ?

(A) Law

(B) Agriculture

(C) Defence

(D) External Affairs

Intensive training is necessary in :

33.

34.

35.

wee=n sifvema faga

(A) FEEA=AT ST TIAT &mei

(B) ‘7w’ AMHE R

~

(C) 1

(a) =

[eh Ul HIAdCI.

ol‘:;

(D) HAMATAT GhTeM  TdU[hioR fasame

o T

WRATA ShIvel Haler e deed ‘i’

A TR el AR ?
(A) I
(B) ¥t
(C) E&u

(D) TR FEER

JEIcTeh! ShIVTCAl FehId S@el JrRT&Tom=it

(A) Generalist pattern  of TS A ?

administration

(A) FAHHEMER GEA YR

(B) Specialist pattern of

administration RERLERENISE RN
(C) Democratic pattern (C) kIS TG
(D) Totalitarian system (D) Yoh® L

14
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36. Whitleyism is a system of :

(A) Settlement of disputes of private

employees.

(B) Settlement of disputes between
the government and its
employees.

(C) Settlement of disputes between
government and private
employees.

(D) Settlement of disputes between

government and NGO’s.

36.

‘fgeoieem’ € qeiciieh! Uehl YehRd 1

FHOM L Y :

(A) G g™ de Higaul

(B) IMEA o IMEA W& A de
gregu

(C) IMEA o Wt daeh Idia de

Hreao

(D) YA o TRMEHE T I de
Hreao

37. 9 CIhIRIHATE Teh He@qul dfereed :

37. An important feature of New Public
Administration is : (A) TEmmER W)
(A) Emphasis on rules (B) TR TheRM
(B) Traditional approach .
(C) A= @&y
(C) Formal nature
(D) Change-oriented @) 1
38. Which of the following is ‘upward’ | 38. qEIeTtsh! hIUA T SEHTH AR 2
communication ?
(A) T
(A) Directives
(B) =T
(B) Orders
(C) Request for guidance (C) wrietag! ford
(D) Instructions (D) =
15 [P.T.O.
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39.

40.

41.

Who proposed “Theory X” and

“Theory Y” of organization ?
(A) Abraham Maslow

(B) Elton Mayo

(C) Douglas McGregor

(D) F.W. Taylor

Which of the following is not a

feature of “Good Governance” ?
(A) Citizen Participation

(B) Bureaucratisation

(C) Transparency

(D) Rule of law

MAD (Mutually Assured Destruction)

18

(A) Soviet Military Policy

(B) U.S. doctrine of reciprocal

deterrence

(C) Military Policy of the NATO

countries

(D) Defensive Policy of WARSAW

Pact countries

39.

40.

41.

Tt “foreTlt e 9 ‘Tt e it
oea ?

(A) TaTeH Hat
(B) Tered #Al
(C) ST HRITR

(D) ThH. T, oo

TCHcTush! iU a6 FEHd SaeRM
e @ ?

(A) AT HEHM
(B) SIehITRIRI
(C) dREEiehdT

(D) R SIERY

MAD (Mutually Assured Destruction)
BN

(A) Tifgud geme oshdl &R
(B) 1= ‘S T gAY’ ® R
(C) &I U &shdl &R0

(D) atgl TR <9 ST=acHe SR

16
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42. Which of the following statements | 49. wEciiciis! oA 9y &OET 3 ?
is true ?
(A) & qummdie fgusda faamemg
(A) SAARC can mediate to resolve i
bilateral dispute between Rl FIOAE HH W FE
regional states NETS
(B) SAARC does not promote (B) W& fagm-daadid ety
scientific and technological - N
. SASH qd R
co-operation
(C) SAARC can resort to collective (C) JREA Toell ACAH Heh ArHfeeh
security in case of an external WA SMUR U ehd
attack
(D) 96 @& &y qemEia fgusd™
(D) SAARC does not replace o
bilateral relations among the AT =
regional states
43. SIS TSRO ST fscard
43. The Dependency Theory in fogid Sl gieen ?
International Politics was put
forward by : A) =i 5
(A) Samir Amin
(B) =& Al
(B) Hans Morgenthau
(C) Y dieed
(C) Kenneth Waltz
(D) Mearsheimer (D) wTR
17 [P.T.O.
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44. The Bretton Woods Conference led | 44. s gEd URSRA @eiicideh! e

to the establishment of : AT Shell ?
(A) World Trade Organisation (A) ST SR S

(WTO)
(B) International Trade Organisation (B) ST S HH

(ITO) o

(C) Srfdeh sk

(C) World Bank (WB)
(D) General Agreement on Tariffs D) e

and Trade (GATT) 45. TRYEERT BT HE] & Shiomaeie foamemn

45. The issue of Farakka Barrage is HEal HE 3T ?
an important point of dispute
b . (A) Rd — 9B

etween :
(A) India — Nepal (B) wRd — siicient
(B) India — Sri Lanka .

(C) qUles — ST
(C) Nepal — Bangladesh

D) YRd — TR
(D) India — Bangladesh (D)

46. The group of countries that are | 46. T TS A qHEed Heard S7eft
demanding a permanent member- HARTON IO <M=l T HIvm
ship of the United Nations Security .. .

C . . (A) SHAT, =R, g SAfthent
ouncil are :
(A) Germany, Nigeria, South Africa (B) wfered, eI, 9Rd
(B) Brazil, Canada, India (©) = wfFe, SR, W
(C) South Africa, Germany, India

(D) ¥Rd, M, hore
(D) India, Japan, Egypt

18
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47.

48.

The  Geo-political theory in
International Politics was put

forward by :

(A) Morgenthau

(B) Cox

(C) Mackinder

(D) Mearsheimer

The role of the mediator in an

international conflict is :

(A) to facilitate negotiations
between conflicting states
leading eventually to resolution

of conflict

(B) to listen to both sides and

determine who is right

(C) to act as a buffer between
conflicting states and prevent

war

(D) to take military action against

the aggressor

47.

48.

STARASR TSTRRAA Y-Tshid g
IO HIS ?

(A) wer

(B) i

(C) Hfepex

(D) W\

AT Feoeifdie] Feaeer=t  fHehT
w/UN

(A) SHF TEEUE <A SRS AT
T I TGHY Grean

(B) TI=! HESUE QM=A1 1] U vl

g’ d S0l

(C) HEISI QUG o<l fien
ES I E- C

(D) SThHKRITEG AHU HRAE HI0l

19

[P.T.O.

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

49. What are the three levels of analysis | 49. 3TdREE Hedde favawomen =
of International Relations ? qdesl SRl ?
(A) Individual, state, system _
(A) b, TS, a0
(B) State, sub-state, supra-state
(B) U9, -9, T=a9d
(C) State, nation, system
(C) U9, U, HIE
(D) Individual, sub-state, supra-
state
(D) =k, F=-T, T
50. Which of the following pairs is
correctly matched ? 50. Welicaidehl IO SISl Id Joodeft
R ?
(A) Tokyo Round — Agricultural
Subsidies
(A) fRA B — IdieETen STdHRRA
(B) Singapore Round — Reduction
of Tariffs (B) famg T — AT A H
(C) Doha Round — Non-tariff (C) Eﬁ‘g‘[ ‘q%'a‘ — 31d eh“oqr r'd')
Barriers SIS
(D) Uruguay Round — Dunkel .
(D) I B — Soha TG
Draft
20
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ROUGH WORK
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ROUGH WORK

22
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